Design: bar pendulum with thickness t, mass M, distance from rotation center to center of mass
Ly, and overall length L and servo motor of torque tgy, with horn of length £},

Simple Pendulum Model:
6 +gsin(9) =0-0= —gsin(e)
L L
Incorporating Generic Losses due to Frictional Moments in Bearings:
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Accounting for Torque due to Drag:
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o [Relmax < 1000, flow is fully laminar - Cp < TRel
~Cp= pig | k. = 24 (approx.starting value based on ellipsoid, to be calibrated)
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Accounting for Torque Applied by Servo Motor (when applicable):
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